BiZE : H =
TNRIS70RA 233

- FINB IS TR T ROBEIZZEZTILLE I,

() HENRE(6H | BAN)
30
25 /'/\\
// N
20 VA B
7 ~3
15
|10
5
0 q 10 1|1 |2 | 2 3 4 5 (E?f)
(4710 (%)
O ZHI7ST7TOERZBIIFMTL LI, ( )
\ J
@ HL<NDBLYRTEELTVDTLL S, )
N\ J
@ ETL<DBHLYREMEELTVNETL L5, [ J
@ BENA—FESVOIE. GAETL LD, [ }

> ws HITBTURYAY



BiZE : H =
TNRIS70RA 233

- FINB IS TR T ROBEIZZEZTILLE I,

() HENRE(6H | BAN)
30
25 /'/\\
// N
20 VA B
7 ~3
15
|10
5
0 q 10 1|1 |2 | 2 3 4 5 (E?f)
(4710 (%)
O ZHI7ST7TOERZBIIFMTL LI, ( )
\ J
@ HL<NDBLYRTEELTVDTLL S, )
N\ J
@ ETL<DBHLYREMEELTVNETL L5, [ J
@ BENA—FESVOIE. GAETL LD, [ }

5w HITBTURYAY

i
i



